Paper 1 (No Calculators Allowed)
Section A [ 40 marks ]

Answer all questions.

1. Evaluate

(a) 3.6 ( 0.12

(b) 18 + 3 ( 2



Answer (a)________________[1]



(b)________________[1]

2. (a) Express 65% as a fraction in its lowest terms.

(b) Simplify   1
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Answer (a)_______________[1]



(b)_______________[1]


3. (a) Express 3456 correct to 2 significant figures.

(b) Express 9.0483 correct to 1 decimal place.


Answer (a) ______________[1]


(b)______________[1]

4. The temperature at 6 a.m. was  –5.8(C. By 10 a.m., the temperature had risen to     –3.5(C.

(a) Find the rise in temperature.

(b) By 2 p.m. the temperature had risen a further 7.0(C. What was the temperature at 2 p.m.? 


Answer (a) ______________[1]


(b)_______________[1]

5.
Mary, Michael and John share 70 marbles in the ratio 3 : 5 : 6. Calculate the number of marbles that John receives.


Answer ________________[2]

6. (a) Express 5.28 metres in centimetres.

(b) The mass of one packet of drinks is 400 grams. What is the mass, in kilograms, of 30 of these packets?


Answer (a)_____________[1]


(b)_____________[2]

7. A bank pays simple interest at the rate of 6% per year. How much simple interest will be paid on $800 in


(a) 2 years ?

(b)15 months?


Answer (a)______________[1]


(b)______________[2]

8. In the diagram, the lines ABC and EF are parallel. (ABE = 112(, (BED = 126(. Calculate

(a) (EBC                 (b) (DEF.
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Answer (a)_______________[1]


(b)_______________[2]

9. (a) Solve the equation 3x + 5 = 17.

(b) Evaluate  p
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 when  p = 2 and q =  –3. 


Answer (a)_______________[1]


(b)_______________[2]

10. (a) Factorise 3xy – 12y.

(b) If 800 grams of grapes cost $5.20, find the cost of 300 grams. 



Answer (a)______________[1]


(b)______________[2]

11. On a particular day the rate of exchange between Singapore dollars (S$) and pounds Sterling (£) was £1 to S$ 2.50. 

(a) Find the cost, in pounds Sterling, of a holiday advertised at S$ 1000. 

(b)  The same rate of exchange can be written as S$1 to   £x. Find x.


Answer (a)______________[1]


(b)______________[2]

12. Mr Lee drives 120 km in 2 hours. If he drives at a constant speed,

(a) How  far will he drive in 30 minutes? 

(b) How long will he take to drive 70 km?


Answer (a)_____________[2]


(b)_____________[2]

13. Mrs Lim takes 50 minutes to travel to work each morning. She takes 55 minutes to travel home each  evening.  She arrives at work at 08 35 and leaves her office at 17 15. Calculate

(a) The time at which Mrs Lim leaves home each morning,

(b) The time at which Mrs Lim reaches home each evening

(c) The length of time, in hours and minutes, which Mrs Lim spends at work each day.


Answer (a)______________[1]


(b)______________[1]


(c)______________[2]

14. A large circle , of radius 10 cm, has a small circle of radius 2 cm cut out of it. Taking ( to be 3.14, calculate 

(a) the area of the small circle.                    

(b) the shaded area between the two circles.






Answer (a)_______________[2]


(b)_______________[2]

Section B ( 30 marks )

Answer all questions.

15. (a) A straight line passes through the pont ( 2, 3) and has a gradient of  –2. Find       the equation of the line.

(b) Another line has equation y = 7x  + 3 and passes through the point (  p, p – 6). Calculate the value of p.   


Answer (a)______________[2]


(b)______________[3]

16. (a) Solve the equation 
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(b)Given that  
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, where k is a positive constant, and that x = 10 when y = 9, calculate 

(i) The value of k

(ii) The value of y when x = 5.


Answer (a)______________[2]


(b)(i)____________[1]


(ii)____________[2]

17. A shopkeeper buys and sells three different articles.


(a) He buys the first article for $40 and sells it for $58. Find his percentage profit.           

(b) The second article costs him $32 and he sells it at a profit of 30%. How much does he sell it for?

(c) The shopkeeper suffers a loss of 20% when he sells the third article for $24. How much did he pay for it ?


Answer (a)______________[2]


(b)______________[2]


(c)______________[2]

18. (a) Complete the table of values for the equation y = 2x – 1 

	x
	0
	1
	2

	y
	–1
	
	3



[1]

(b) Draw the straight line y = 2x – 1 on the diagram below.
[1]

(c) Draw the line  y = 2 on the same diagram.
[1]

(d) Write down the coordinates of the point where the two lines meet.


Answer (d)_____________[1]


19. In the diagram given, (ANB = 90(, AC = 13 cm, BC = 11 cm and CN = 5 cm  and BCN is a straight line.

(a) Calculate the length of AN.

(b) Calculate the length of AB.

(c) Write down, in fraction, the value of

(i) cos (ACN

(ii) tan (ABN



Answer (a)____________________[1]


(b)____________________[2]


(c)(i)_______  (ii)_______ [2]

20. Each member of a class of 40 girls was asked to name her favourite colour. Their choices are represented on the given pie chart. 

(a) If 16 said they liked blue, calculate the value of x.

(b) Find the number who said they liked green.

(c) Find the percentage of the class who said they liked red.



Answer (a)_____________[2]


(b)_____________[1]


(c)_____________[2] 

Paper 2 (Calculators Allowed)

Answer all questions.

1. (a) Factorise  y2 – 4y – 21.
[2]

(b) Solve the equation  2x2  – 9x + 3 = 0 , giving your answers correct to two decimal places.
[4]

2. In the diagram, BCE is a straight line,  (ECD  = 46.2(,  (CDE  =  (ACB  =  90(, BC = 6 cm, and AC = CE = 8 cm. Calculate 

(a) (CED 
[1]

(b) (BAC
[2]

(c) the length of DE 
[1]

(d) the length of AE
[1]

(e) the area of triangle ABE
[1]




3. In the diagram, the points A, B, C, D  and E lie on a circle centre O and (CAE = 70(. Calculate

(a) (COE
[1]

(b) (CBE
[1]

(c) (OCE
[2]

(d) (CDE
[2]


4. The points A and B have coordinates ( –6, 2) and (4, 7) respectively.

(a) Find the coordinates of the mid-point of AB.
[1]

(b) Calculate the length of AB.
[2]

(c) Find the gradient of line AB.
[1]

(d) Find the equation of  line AB.
[2]  

5. Given that y varies directly as the square of x, and that y = 12 when x = 2, 

(a) Express y in terms of x.
[2]

(b) Calculate the value of y when x =  – 4.
[2]

(c) Calculate the values of x when y = 108.
[2]

6. (a) Express  
[image: image8.wmf]1

x

3

5

-

  –  
[image: image9.wmf]1

x

2

2

-

 as a single fraction in its simplest form.
[2]

(b) Solve the equation 
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[2]

(c) Simplify  
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[2]

7. Answer the whole of this question on a single sheet of graph paper.

The given table of values is for  y = 
[image: image13.wmf]2

x

2

 – 2x

	x
	–1
	0
	0.5
	1
	2
	3
	4
	5
	6

	y
	2.5
	0
	–0.9
	–1.5
	–2
	a
	0
	2.5
	6


(a) Find the value of a.
[1]

(b) Using a  scale of   2 cm to represent 1 unit   on  each  axis,   draw the graph  of      y = 
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 – 2x  for values of x between  –1 to 6.  
[2]

(c) From your graph, find the values of x when y =  –0.5 
[2]

(d) Describe fully the symmetry of the graph.
[1]
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